Priklady, 1. ¢ast

Zadani

1) x*-6x-216=0
2) 8x—x>=12

3) —x*+5x=0

4) x*-9=0

5) 4x*-25=0

6) (x—6) +(x—8) =100

7 x(x-2)+(x-2)(x+2)=0

8) a2—2a+6=5(2—a)

9) (x—2) +(x-9) ~(x~11)"=0

10) 3(2a—4)—(5-a)(2a+3)=1
2 x=-2 X

1) =22 .x=1-2
3 4 6

12) X =x
13) 1 1-x 1

+ =
2x—4 x*=2x 2

4y -2 -
3x x+2 x+2




Reseni

1)

x*—6x-216=0 a=1b=-6;c=-216

D=0b* —4ac:(—6)2 —4-1-(—216)=36+864:900

_—b+VD _—(-6)+~/900 6+30

1 18
2a 2.1 2
N _—b—D —(-6)-~/900 6-30_ |,
g 2a 2-1 2

ReSeni: x, =18; x, =—12

2)

8x—x" =12

X +8x-12=0 a=-1;b=8,c=-12
D=b"—4ac=8 —4-(-1)-(-12) =64-48=16

_—b+\/5_—8+\/ﬁ_—8+4_2

Y 2:(-1) -2
~b-+D -8-+16 -8-4
2a 2:(-1) -2

ReSeni: x, =2; x, =6

3)

X" +5x=0
x-(—x+5)=0

x=0 nebo —-x+5=0
x,=0 -x=-5

X, =35

ReSeni: x, =0; x, =5

4)

¥=9=0

x> =9
x1=+\/§:+3
xzz—\/_=—3

ReSeni: x, =3; x, =-3



6)

(x=6)" +(x-8)" =100

x> —12x+36+x" —16x+64-100=0
2x —28x=0

x-(2x—28)=0

x=0 nebo 2x-28=0

x,=0 2x =28
x, =14

Reeni: x, =0; x, =14

7)

x(x—2)+(x—2)(x+2):0

¥ =2x+x +2x-2x-4=0

2x* =2x-4=0 a=2;b=-2;c=-4
D=b*—4ac=(-2) —4-2-(-4)=4+32=36

:—b+\/5:—(—2)+x/%:2+6:2

1

2a 2.2 4
N _—b—\/B_—(—z)—J%_z—6__
g 2a 2.2 4

ReSeni: x, =2; x, =1



8)

a’—2a+6=5(2-a)
a’-2a+6=10-5a
a’-2a+5a+6-10=0

a*+3a-4=0 a=1;b=3;c=—4
D=b"-4ac=3"-4-1-(-4)=9+16=25

_—b+\/5_—3+\/5_—3+5_

X, 1
2a 2-1 2
—-b—~D -3-~25 -3-5
xZ = = = :—4
2a 2-1 2

Refeni: x, =1; x, =—4

9

(x=2) +(x=9)" =(x-11)" =0

X —dx+4+x° —18x+81—(x2 —22x+121):0
2x* —22x+85—x* +22x—121=0

x*=36=0

x* =36
x1=+\/%:+6
x,=—36=-6

ReSeni: x, =6; x, =—6

10)

3(2a—4)—(5-a)(2a+3)=1

6a—12-(10a+15-24" ~3a)-1=0

6a—12-10a—15+2a* +3a—-1=0

2¢*—a-28=0 a=2;b=—1;c=-28

D=b—4ac=(-1) —4-2-(-28)=1+224 =225
_—b+JD  —(-1)+~4225 1415

1 4
2a 22 4

N _b-VD —(-1)-225 1-15 14 7

’ 2a 2-2 4 4 2

W v y 7
ReSeni: x, =4; x, =——
2



11)
x—=2
4

le_f /.12
12 6

2x" —4x=12-2x

2x* =2x-12=0
D=(-2)"—4-2-(~12)=100
—(-2)+1

(-2)+10

=

2372 %
3

(o)

X =

ReSeni: x; =3; x, =2

12)

X' =x

X =x=0
x(x—l =0

x =0 x, =1

ReSeni: x, =0; x, =1

13)
1 1-x 1
+— ==
2x—4 x"-2x 2
1 1-x

1
26o2) 3oy 2 )

x+2(1—x)=x(x—2)
x+2-2x=x"-2x
x> +x+2=0
D=12—4-(—1)-2:9

-1+3
xl = =

-1

\S]
—_~
|
[
~—

Podminky: x #0; x # 2
Reseni: x =1



14)
L_ 2 X

3x x+2 x42
x+2-3x-2=3x-x

—3x* =5x+2=0
D=(-5)"-4-(-3)-2=49

/-3x(x+2)

Podminky: x #0; x #-2

.« ., 1
ResSeni: x=§



